fei1)

BTM8926P BTM8933P
BTM8952P BTM8931P

NO. | DESCRIPTION
1 CONNECTING DISC ASSEMBLY
2 HARNESS ASSY
3 HARNESS CLAMP
4 CLAMP
5 THROTTLE ASSY
6 LEFT HANDLE
7 CAP UPPER
8 BRACKER
S CAP LOWER
10 | ALUMINIUM PIPE
11 | CONNECT PLATE
12 | GEARBOX ASSY
14 | LINE PACK
15 | 80T TCT BLADE
16 | GUARD
17 | SMALL BLADE
18 | STRAIGHT SHAFT
19 | OIL BEARINGS
20 | SCREW M6X35
21 | SCREW M6X25
22 | SCREW M5X14
23 | SCREW ST4.2X14
24 | SCREW M6X25
25 | SCREW M6*40

BTM8926P BTM8933P BTM8952P BTM8931P-EX-UK241010BT




